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For the final complete revolution … 
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Sine Rule … 
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So the bearing of the speedboat 45 076 008... 076 0  
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parallel axes theorem … 
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energy considerations … 
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Potential Energy Function (relative to position with  = 0) 
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So the potential energy function has a local minimum at  = 0  and therfore we have a position of 

stable equilibrium. 

 

 

conservation of mechanical energy … 
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differentiating … 
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for small oscillations …… sin and cos 1    

 

and so ….    
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The motion is therefore approximately SHM with period   
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